EARAROBEEIERT — 2 N— IBISH —F

20135F5A318 (&) SEIEME3A

INRC2= C2= #5%4®kE (xwlw | lmEmml - |5 5) wom 8
[AE£] 1% :250,000 ™ ~ 2%&:45,000”  37%&:22,500 W  43%&:12,500 53 :7,500 0
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. o JNEE— :31. 01~ . — A (Fh)
118l NFZTILFETF 4 4 oy 1(3_1)2 2-2-1-2 | 38.4 1 42(1);5 e
R:T7RIfYL—> B4 Fo—NL—FK BA77—L
7Y 3 RN o4 | LR 1(:33/14.)4 1-1-1-1 | 388| — | 3 (4_611) §§§§ (i)
LHITTLIFL N BiHITT 2T — B OtE
g 4 4 | FHEL 1:31.8 3-4-3-4 |38.9| — 4 422 | ERERAL (FEHR)
3177 T7A47LYy Y 54.0 2 1/2) 43) P
LA T74T7 B:wLPzA7 11— METHS
. = o s 4 | dLEFRBEL 1:31.9 4-3-4-3 [39.0| — 7 484 | HEF (FEl)
4 o | AU FTARX 54.0 (3/4) (o) |WLERS
LBALINT Ry IR BiAYIUTIAR ilf:=bie]
A 5 | AR 1:32.1 5-5-5-5 | 39.1| — 2 473 | REFE ()
5 6| FH) A 54.0 (3/4) (1) |EEEM
AR )4 =9 Bv—=IFNTITv— J=HrTr—L
3 o 12 mfEA :33. ~6-6- . — XiBEE (BMA
6lglg|FUovsky B 7 i 1(363)1 6-6-6-6 | 40.0 5 (4+230) TRy
LALLM E— B:5yF—ETRU— TEHS
== 44 %0 . 77 _
7 NI A= eI H 6 Széfg*a/i 1.(3;,).8 7-71-7-7 | 39.3 6 | 452 %J{EE%%E (i)
Z:n7x BYHLF—XFEY-— © HET7—L
= . BEET : -9-9- — ioEE (FEk)
8l5l5| 3?17 —nra— i 8 56% 1(73:;? 9-9-9-8 |38.2 8 (4_737) LEsE
R:v>NyB&rhTx BN INRVEUH FBEZX %Y K
# 6 | MAEH 1:35.6 8-8-8-9 [40.6| — | 9 | 437 |@@BAEX (EE)
911 AXAINT 4+ —1— 5/8.0 (&4 4) 7 ,%ﬁ)nle'El— Ky357
L:T7A—T14>%— B IXHAYH-I hfE A
® I—F—@EBIERL
13—7F— 3,9,7,2,6,8,4,1,5
Ao=5"= 3,9,2,7,6,8,4,1,5
T =35r= (3,9),7,2,6,8,4,1,5
43—+ — 3,9,2,7,6,8,4,5,1
[ RN
B 9 1209 794K 3-9 240M & 3-8 400/ &R 3-7-9 1,730
7 B 9 110M 7-9 510 | | B & 3-9 470 | | EE 9-3-7 3,400
3 180M 3-7 1,290H B H 9-3 450
7 200/

ABICOVWTRDTEEERROODE. TR LIV,




